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FIAAMFZ HI &l =2 X1 & 2,500 2,500 0
Il 2,500
202 04| 2,500 2,500 0
7l 2,500
01 2L AL 2,500 2,500 0
OFTA b=t 2 FE 0| 2,500
Il 2,500
TSSsua PEAAXE 125,303 125,304 A
= 37,591
Al 87,712
307 @120l & 125,303 125,304 A
s 37,591
Al 87,712
02 QB HANSEER 125,303 125,304 A
Ox=sSSsSua WA XIJ A 125,303
& 37,591
Al 87,712
D==FHSEUS SIIH X 100,000 110,000 10,000
402 2I2F X201 & 100,000 110,000 10,000
01 QI X2 AL E A (KEHITHR) 100,000 110,000 10,000
OU=ZHHLS sIIAHKXNEH 100,000
sotasgtd 748,950 856,550 /107,600
Il 48,180
= 51,200
Al 649,570
SESHS UL S 87,500 28,000 59,500
) 35,000
Al 52,500
402 2IZtA=01d 87,500 28,000 59,500




oH
Rl
OF
uJ

3 S
0 o]
i ? 23 2 EEE ° °
< Y
E <A glsls 22|28
D S8 =
< SRR
S S —
S rel 3 o
S al B
g - N & 218|8 3
5 - S |3 |S S S
L3 - = & 5 Sls | S S 318(8
R i glglg g |2 g 288 |BIE|E |EIEE
| = > S S > | S | S
s g8lg g 88
055505%%_@%%0%% o
T} ;;‘;;4|,_/‘94|W % mm
3&&&%&%mm&&&%%ﬁwoommmmmmmwmwmmwm
cl Nodly s dd|g|SlsSleTSleTales e g glglgls glg
g 111mmM@%Mw%,%,M&,o,o,o,o,o,ooommm
< T il R wmmmmwwo,o,,,,o,
S il A S 28|88 3
~ =< _ | — | _
~N < ~N < ~N < ~N < H =
H < H =< H =
ar
X0
BJ
. W
30 =
< i % a1
F o R o = _
= F = —~ &J
_ il . m
< L = id - )
. R 5 = al (@M 51 = W
= S = RS nlo|® 5 = o o e |R 5
m & L i) S |..A|._ ﬂ.-i W.Ml am_‘ oﬂ[ MM m = = = _x.__. <
- T — I N = . = = "
F 53 = R S EEEE: = =l B 2la| |E |3 o
oF &) <J = ™ % = H < KA = = = 0| = R =<
a = I <J pdl <0 o iy = 0 [ < o
0l 20 3 = e | ® K Ki - i
5 % ) ~lmla 5l H £ L wla | (K=
: 0 2 = = o =~ B8 R L] A I L I L S S L
&l <R <0 W I W S5 = ey Salm 215 x|a | g
. n S = =g TR S ﬁ % RIS 7 |G R (3D W0 .
RO & o S inf I CEE 7l 2 3 R I e
. 3 - A N 1252 == > X0 Mk o | AR CIEE.
A, d KO < R0 3 T o= A
X & O o o) ol U eI Al 5 < Dz =lo|x|x B I E
- 00 g s O U | |= O ol ol B p ﬂ AW (AR o | A o
ur d1g812 % s g O MND_MEm_m_mM_m_w_m
| = i |9 |° __mnWMOiOW%O
< — 3| ™
N =4




SN SEHR
M SttE dAAE & sEEYE 25
el SIS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ESSsH= Muigds At 21,600 32,400 10,800
= 7,200
Al 14,400
307 el2to| & 21,600 32,400 10,800
= 7,200
Al 14,400
02 QIZtEHAEE X 21,600 32,400 10,800
OEESsH= Mulgdat At 21,600
s 7,200
Al 14,400
HEFHSS AL N2 50,000 100,000 /50,000
402 QI2F X201 & 50,000 100,000 /50,000
01 QI X2 AL E X (KHMITHE) 50,000 100,000 50,000
OUHFESS dLAIE XA 50,000
A0 H=2tE HE A 90,000 100,000 10,000
402 212t X+=01 & 90,000 100,000 10,000
01 QI XHZ AL E R (KEHITHE) 90,000 100,000 10,000
OAIZ20 d=etd HEA 90,000
VS M HAAE S 2,336,892 2,059,970 276,922
Jl 299,472
= 896,109
Al 1,141,311
2020F ICTE=SEAIA 615,279 455,845 169,434
) 279,672
= 100,683
Al 234,924
402 2I2F X201 & 615,279 455,845 159,434
Jl 279,672
[ 100,683
Al 234,924
02 QI X2 AL EE (01X THE) 615,279 455,845 159,434
OAER& st N&A 165,000
Il 75,000
== 27,000
Al 63,000
OICTAIE 25 XI& 72,600
Jl 33,000
s 11,880
Al 271,720
OIUX 2ZA14 X2 377,679
Jl 171,672
s 61,803
Al 144,204




AN SEEHD
M SAS MAAL U SEM U3
CHel: DEA TA MAAIL B (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NAESESHILGIRSAXIZ AN (D EALY) 696,000 225,240 470,760
= 580,000
Al 116,000
402 212+ X+=01 & 696,000 225,240 470,760
= 580,000
Al 116,000
02 RIENZASEZ (01 THR) 696,000 225,240 470,760
OdM=SSEXA Il HILot2A X 260,400
s 217,000
Al 43,400
OAlZ Satas S0t = 28 435,600
& 363,000
Al 72,600
AEGIRA HEIIXIA 8,043 41,760 N33,717
= 2,415
Al 5,628
402 2I2FX=01 & 8,043 41,760 N33, 717
s 2,415
Al 5,628
02 RIENEASEZ(0IETHR) 8,043 41,760 A33,717
OAlEotRA )| XI& 8,043
& 2,415
Al 5,628
DFHIDFETHERAIE I 49,500 33,095 16,445
Jl 19,800
[ 8,910
Al 20,790
402 BIZtAH=01A 49,500 33,095 16,445
Jl 19,800
s 8,910
Al 20,790
02 RIENEASEZ(0IETHR) 49,500 33,095 16,445
OXF=HIIISHEAIE X1 49,500
7l 19,800
= 8,910
Al 20,790
20| 2 SMALBEA TR AL (M EFALY) 35,400 23,400 12,000
[ 29,500
Al 5,900
402 BIZtAH=01 A 35,400 23,400 12,000
= 29,500
Al 5,900
02 QI X2 AL EE(0IHTHE) 35,400 23,400 12,000




SN SEHR
M SttE AAE & sEEYE 25
Chel: DEX T4 MAAIA B0 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIS MAE gt XIJAI (HEAIY) 35,400
= 29,500
Al 5,900
ANEE0 JIsdess 23et 2dH L3t AlY 140,000 150,000 10,000
402 2I2FX=01 & 140,000 150,000 10,000
01 QI XHE AL 2 (KEHITH) 140,000 150,000 10,000
OAEE0 JIsdEE g8 345 Hal
At 140,000
HES|Y (A )ANEE X 68,670 68,670 0
= 20,601
Al 48,069
402 QI”F X201 & 68,670 68,670 0
= 20,601
Al 48,069
02 QI X2 AL E R (0IETHE) 68,670 68,670 0
OFHSY(AHEE)ADIET XIZ A 68,670
S 20,601
Al 48,069
FETHAOEE X XZ A 704,000 1,056,000 /352,000
[ 154,000
Al 550,000
402 QI>F X201 & 704,000 1,066,000 A352,000
= 154,000
Al 550,000
02 QI X2 AL EE(0IETHE) 704,000 1,056,000 /352,000
OFHELADNEYE X XZAAS 308,000
= 154,000
Al 154,000
OFHEHADNEY IIX XA
('23. AlHI) 396,000
NSS3 S ANESE 20,000 0 20,000
207 ARl 20,000 20,000
01 H1ESHI 20,000 20,000
OXISEs A ANET S2AY H+
29 20,000
dY2IFH(s=25M) 376,056 369,465 6,591
el 347,823 339,252 8,571
elIg =3l 347,823 339,252 8,571
101 e124d| 347,823 339,252 8,571
02 JIEtM = 347,823 339,252 8,571
OsEt ST HAAMNSE XLAIRSE
21 173,911
o=2(CHa) 4,396,000 =2H 123 105,504




SN sEmED
M HYRAZH(s=21)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o2(2ta) 3,850,000 «1H*12& 46,200
oY A ZAH| 140,0002 <3+ 122 5,040
o2l 2t=H| 43,7502 x3&* 122 1,575
otE=E 100,000& x32* 123 3,600
EEESH (=) 61,8702 42+ 12 3.885
EEEESNEE) 15750021 %121 122 1,890
()
179,0802! 22+ 12 4,298
e e C)
159,880&x 1~ 123 1,919
ODISBHSIIAY KIZAIRFE S| I 113,663
o2(CHa) 4,396,0003 1 +12& 52,752
o2 (2t=) 3,850,000 x1H* 122 46,200
oZ A ZAMH| 140,000& x2&* 123 3,360
o2l SH| 43,7502 x2S * 122 1,050
otEg 100,000 =2 * 12 2,400
EEEE(S=) 161,87021+12 122 1,943
ORBHEHI(212) 157, 50021+ 12 12 1,890
oSAHDAL(CHD)
79,0802+ 12 122 2,149
0SAEHDLY(213)
150,880 x1&* 12 1,919
ODISERANH REASI} XLAIHE:
21 60,249
o=2=(CHa) 4,39%,0002«1E~12& 52,752
od A ZAH| 140,0008 <12 x12& 1,680
o2l =H| 43,7503« 1~ 128 525
oESY 10,0002 124 128 1,200
oXZEEHI(CH) 61,8702+ 12+ 122 1,943
oSAHDA(CHD)
179,0802« 12+ 128 2,149
Jl=3H| 28,233 30,213 1,980
Jl=23H] 28,233 30,213 /1,980
201 er23y| 21,933 23,913 1,980
01 AtR2t2|HI 17,822 19,802 1,980
O=ALEX 2,852
OXZgle &d, =8 uH 3,265
OJIEF AtR2t2IHI 11,705
2 s5=g4l 4,111 4,111 0
O2SXe [FHI(74214224) 3,240
OXtg sXZeg(dred, UHSiHEE S) 871
203 =4l 3,600 3,600
M FA2HHIFII 3,600 3,600
OFAMEZE = 300,000 * 122 3,600




SN sEEHD
MY #™ A (SEHA)
=l Jl=3H| (Cte: M
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
405 AHaHE = 2,700 2,700
01 It =S F = 2,700 2,700
OPC -¢ 1,120,000 *2CH 2,240
OZUH 2¢ 230,000 ~2CH 460




